
 

 

CAT Data Interpretation Questions for Practice 

Difficulty Level- Easy 
 

Directions for questions 1 to 4: Answer the questions on the basis of the information give below. 

The following table gives year wise and course wise admission to a college. 

 

Sports 2016 2017 2018 2019 2021 2022 

Course 1 
160 200 250 150 140 160 

Course 2 40 80 95 100 110 130 

 

(b) Course 4 

       (c) Course  5 

        (d)  Course 3 

 

 

 

 

 

 

 

 

 



 

 

Directions for questions 5 to 8: Answer the questions on the basis of the information give below. 

The given graphs which show the Seats won and the percentage of valid votes polled for different political 

parties in a state for different election years 

 

 

 

 

(a) 2009  

(b) 2004 

(c) 2014  

(d) 2004 and 2014 

7. In 2009 Party 1, received 2.24 crore valid votes, whereas in 1999 there were  1.228 crore valid vote for  

Party-2. By what percent was the number of valid votes less in 1999 with respect to that in 2009?  

(a) 20%  

(b) 24%  

(c) 30%  

(d) 25% 



 

 

8. In which of the following years, was the difference in the number of valid votes for any two political parties 

the maximum? 

(a) 1999  

(b) 2009 

       (c) 2004  

       (d) Cannot be determined 

Directions for questions 9 to 12: Answer the questions on the basis of the information given below. 

 

Percentage Sales of Different brands of Rice in Delhi in Two Different Years 

11. What is the ratio between the R4 Rice sales in 2009 and those of R1 in 2010? 

(a) 0.58  

(b) 0.37  

(c) 1.13  

(d) 0.29 

12. What is the ratio between increases in amount of rice of R4 to that of R3 in two years? 

(a) 0.85  

(b) 0.9  

(c) 1  

(d) 1.2 

 



 

 

Directions for questions 13 to 16: Answer the questions on the basis of the information given below. 

The monthly, sales turnover of colour TV of four companies-C1, C2 C3 and C4, from the April through 

September, 2001. 

 

 

(d) May 

14. In how many months was the sales turnover of C1 more than one-third of the total sales turnover of the four 

companies? 

(a) One month  

(b) Three months 

(c) Five months  

(d) None of these 

15. In how many months, from February to June, did the sales turnover of C3 as percentage of the total sales 

turnover of the four companies increase over that of its immediate preceding month? 

(a) One  



 

 

(b) Two  

(c) Three  

(d) None 

16. Which of the following statements must be true? 

(a) The sales of C4, as a percentage of total sales, were the same for four months. 

(b) The ratio of the total sales of C1 to the total sales of C3, from January to June was 19 : 20. 

(c) The total sales of C2 from January to June were approximately 17.8% of the total sales of all the four 

companies for the given period. 

(d) For each month, the sales of C2 were always more than the sales of C4. 

 

Directions for questions 16 to 20: Answer the questions on the basis of the information give below. 

 

 


